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Question Number : 1 Question Id : 1017174481 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Let IV be the set of all natural numbers, 7 be the set of all integers and o : 11 — Z be
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Question Number : 4 Question Id : 1017174484 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a. b. ¢ are non zero real numbers and if the equations (a— 1) x=v+z. (b—1)y=z+x.
(e — 1) z=x+y have a non-trivial solution. then ab + be + ca =
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Question Number : 5 Question Id : 1017174485 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a system of three linear equations in three unknowns. which is in the matrix equation
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Question Number : 6 Question Id : 1017174486 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 cos 1
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Question Number : 7 Question Id : 1017174487 Display Question Number : Yes Single Line Question Option : No Option
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If - 15 a complex number with | = | = 5. then the least value of | +—] 15
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Question Number : 8 Question Id : 1017174488 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 9 Question Id : 1017174489 Display Question Number : Yes Single Line Question Option : No Option
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Question Number : 10 Question Id : 1017174490 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If o is a non-real root of x” = 1. then o(1+ (:r](]—i- a’+ a4] =
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Question Number : 12 Question Id : 1017174492 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The harmonic mean of two numbers is — = and their geometric mean is 2. The quadratic

equation whose roots are twice those numbers. 15
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Question Number : 13 Question Id : 1017174493 Display Question Number : Yes Single Line Question Option : No Option
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If the roots of the equation x° — 7x* + 14x — 8 = 0 are in a geometric progression. then the
difference between the largest and the smallest roots 1s
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Question Number : 14 Question Id : 1017174494 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If oo 5. v are the roots of ¥° + px? + gx +7-=0. then the value of (1 + o’ ] (1 + B (1 g ]
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Question Number : 15 Question Id : 1017174495 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of different ways of preparing a garland using 6 distinet white roses and
5 distinct red roses such that no two red roses come together. 1s
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Question Number : 16 Question Id : 1017174496 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

There are 10 intermediate stations on a railway line between two particular stations. The
number of ways that a train can be made to stop at 3 of these intermediate stations so that
no two of these halting stations are consecutive. 1s
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Question Number : 17 Question Id : 1017174497 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 18 Question Id : 1017174498 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The coefficient of x° in the expansion of (1+ x}zl +(1+ r)ﬂ k1t x'}m 15
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Question Number : 19 Question Id : 1017174499 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 20 Question Id : 1017174500 Display Question Number : Yes Single Line Question Option : No Option
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Question Number : 21 Question Id : 1017174501 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



If tan o and tan B are the roots of the equation x”+px+¢=0. then the value of

sin” (o +ﬁ}+pc05({x+ﬂ)5ill[o_’+ﬁ)+qc052 (a+p) 1S

pr+q=0 HD08650708 tan o tan f e Soresnda,

sin’ (o + )+ peos(a+ B)sin(a+ B)+qcos (a+ ) dend

Options:

L PTq
P
3. 4

b4
4, BTG

L2

Question Number : 22 Question Id : 1017174502 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 23 Question Id : 1017174503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 24 Question Id : 1017174504 Display Question Number : Yes Single Line Question Option : No Option
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Question Number : 25 Question Id : 1017174505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

a4 2. o
Sech 1[— +Cosech™ (~1) =
2 -
Options:

2=

_\EH

;2
0

4.

L2

Question Number : 26 Question Id : 1017174506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In A ABC if 6 1s any angle. tllen'bms[ C+8)+ccos(B-6)=
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Question Number : 27 Question Id : 1017174507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In A ABC. if hcos8 = ¢ —a. (where 8 is an acute angle). then{ c—a)tanf =
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Question Number : 28 Question Id : 1017174508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If o. B. yare the lengths of the tangents from the vertices of a triangle to its in-circle. then
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Question Number : 29 Question Id : 1017174509 Display Question Number : Yes Single Line Question Option : No Option
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The triad (x, y. =) of real numbers such that
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Question Number : 30 Question Id : 1017174510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In A ABC, L. M. N are points on BC. CA. AB respectively. dividing them in the ratio
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K
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Question Number : 31 Question Id : 1017174511 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a non-zero vector @ is parallel to the line of intersection of the plane determined by the
vectors ] — k. 3] — 2k and the plane determined by the vectors 27 +37.7 —37 . then the
angle between the vectors @ and Tl j4+kis
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Question Number : 32 Question Id : 1017174512 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If @. b and ¢ are non-zero vectors such that @ and 5 are not perpendicular to each other,
then the vector 7 which is perpendicular to @ and satisfying 7 x5 =¢ x b 1S
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Question Number : 33 Question Id : 1017174513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the volume of the tetrahedron formed by the coterminous edges @. b and ¢ is 4. then the

volume of the parallelopiped formed by the coterminous edges @ xb. b x and € x @ is
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Question Number : 34 Question Id : 1017174514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the points having the position vectors 37 —27 —k. 27 +3j —4k.—7 + j+2k and

47 + 57 + Ak are coplanar. then A=
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Question Number : 35 Question Id : 1017174515 Display Question Number : Yes Single Line Question Option : No Option
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The variance of the following data is
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Question Number : 36 Question Id : 1017174516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If o =0 and the mean deviation of the observations {ke¢}. for k= 1. 2. .... 50 about its
median 1s 50, then |a| =
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Question Number : 37 Question Id : 1017174517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If three numbers are drawn at random successively without replacement from a set
S={1.2. ... 10}, then the probability that the mininmun of the chosen numbers 1s 3 or their
maximumis 7. is

&S w08 80A &ff Vobhsvor B& S= {1, 2, ..., 10} Soodk aSrdyinsSorn &8 o°d
ok P88 Suordy wosed éa?:éﬁ;.’:;?a’@; et 3 808 Homgm S 7 105 Hopgrne
o°fiey HDogragds

Options:



s 40
11
4. 40

Question Number : 38 Question Id : 1017174518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bag P contains 5 white marbles and 3 black marbles. Four marbles are drawn at random
from P and are put in an emptv bag Q. If a marble drawn at random from Q 1s found to be
black. then the probability that all the three black marbles in P are transfered to the bag Q.
15
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Question Number : 39 Question Id : 1017174519 Display Question Number : Yes Single Line Question Option : No Option
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Given below 1s the distribution of a random variable X
X=x 1 2 3 4
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fo=PX<3)andp=P(X>2).thena:p=

28 oﬁmﬁgfﬁé door3 X g, dgrado Hrhdd adgméod.
X=x 1 2 3 4
P(X=x) A 24

a=P(X<3)50c5n p=P(X>2)mwond, a:p=

Options:

A 42

fad

1.

[
Tl
.

Question Number : 40 Question Id : 1017174520 Display Question Number : Yes Single Line Question Option : No Option
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Question Number : 41 Question Id : 1017174521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



DXy Xy X, and gL vy 1s. ... Vo are two arithmetic progressions with common differences
a and b respectively. If e and S are the arithmetic means of x . x,, ... x, and y,. v,. ...y,
respectively. then the locus of P (c. f) 1s
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Question Number : 42 Question Id : 1017174522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The point to which the origin 1s to be shifted to remove the first degree terms from the

: ; Fi .
equation 2x% + 4xy —6y° + 2x+8y+1=0 is
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Question Number : 43 Question Id : 1017174523 Display Question Number : Yes Single Line Question Option : No Option
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The incentre of the triangle formed by the straight lines y = J3x. y=—/3xand y=3is
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Question Number : 44 Question Id : 1017174524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The set of all values of “a” such that both the points (1. 2) and (3. 4) lie on the same side of
the line 3x—Sy+a=0
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Question Number : 45 Question Id : 1017174525 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The points on the straight line 3x — 4y + 1 = 0 which are at a distance of 5 units from the
point (3. 2) are
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Question Number : 46 Question Id : 1017174526 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the pair of lines through the point (2. 1) and perpendicular to the pair of
lines 4xy +2x + 6y +3=01s
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Question Number : 47 Question Id : 1017174527 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the pair of lines x* — 16pxy —y* = 0 and x* — 16gxy —1” = 0 are such that each pair bisects
the angle between the other pair. then pg =
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Question Number : 48 Question Id : 1017174528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The figure formed by the pairs of lines 6x” + 13xy+ 61~ =0 and
6x> + 13xp+ 617+ 10x+ 10y +4=0. is a

6x” + 13xy + 637 = 0 558050 6x” + 133y + 6% + 10x + 10y +4 = 0 =3 dgr oformped
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Question Number : 49 Question Id : 1017174529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A circle having centre at the origin passes through the three vertices of an equilateral triangle
the length of its median being 9 units. Then the equation of that circle 1s
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Question Number : 50 Question Id : 1017174530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a circle with radius 2.5 units. passes through the points (2. 3) and (5. 7). then its centre 15

mgéﬁg;&m 2.5 oorddn AOAN af SHEgswn (2. 3). (5. 7) Hohde Moz dod,
'R Soo

Options:

, (7. 10)
(1:5;2)

]

—
(]
)
L

o

Question Number : 51 Question Id : 1017174531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If 2k +3y—1=0, 2x + v+ 5 =0 are conjugate lines with respect to the circle

X2 +32—2x—4y—4=0, then k=
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Orientation : Vertical



If the point of intersection of the tangents drawn at the points where the line Sx+y+1=0
: 2 :
cuts the circle x* + v —2x — 6y —8 =0 s (a. b). then 5a + b=
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Question Number : 53 Question Id : 1017174533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the two circles, each passing through the centre of the other, is
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Question Number : 54 Question Id : 1017174534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the circle whose diameter 1s the common chord of the circles
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Question Number : 55 Question Id : 1017174535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the parabola whose axis is parallel to the X-axis and which passes through
the points (2. 1) (1. 2) (1. 3) 1
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Question Number : 56 Question Id : 1017174536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The tangents to the parabola v* = 4ax from an external point P make angles 0, and 6, with
the axis of the parabola. such that tan 6, +tan 6, = b where b 1s constant. Then P lies on
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The lines y =2x++/76 and 2y+x=8 touch the ellipse :—6 + 1—2 =1. If the point of

mtersection of these two lines lie on a circle. whose centre coimncides with the centre of

that ellipse, then the equation of that circle 1s
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Question Number : 58 Question Id : 1017174538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the tangents drawn from the point (1. 2) to the ellipse 3x” + 237 =5 is
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Question Number : 59 Question Id : 1017174539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 60 Question Id : 1017174540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The circumeentre of the triangle formed by the pomts (1. 2. 3): (3. -1, 5): (4. 0,-3) 15
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Orientation : Vertical
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A ABC is formed by A (1. 8. 4). B (0, —11. 4) and C (2. -3, 1). If D 1s the foot of the
perpendicular from A to BC. then the coordinates of D are
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Question Number : 62 Question Id : 1017174542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the plane through (4. 4, 0) and perpendicular to the planes 2x+y+2z+3=0
and 3x+3y+2-—-8=01s
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Orientation : Vertical
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Question Number : 64 Question Id : 1017174544 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If f: R— [Ris defined by
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Orientation : Vertical
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Question Number : 66 Question Id : 1017174546 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Orientation : Vertical



e
If y— S X then (1 +42) Yy +3xy ty=

2
L%

Sinh 'y _ . i
=—— 0008 (1 +x7)y,+3xy; +y=
v1+x°

Options:

i 0
—1
5 1

..-.I|

-2

i 2

Question Number : 68 Question Id : 1017174548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 69 Question Id : 1017174549 Display Question Number : Yes Single Line Question Option : No Option
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A container 1s in the shape of an inverted cone. Its height 1s 6m and radius is 4m at the top.
If it is filled with water at the rate of 3m”/min. then the rate of change of height of water
(in mt/min) when the water level 1s 3m. 1s

w8 @ doodor OGS Fogod CrHoed® ¢ob. T %) 6 . oo T
DET0S™ argrgo 4 0. &R 3 Do3/0505H0 Bend HBS* D0HB08, HES &0 3 .

T GHYE, S I8y B, Sy B (o/dnes?)

Options:

3 167

4 27

Question Number : 70 Question Id : 1017174550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a cylindrical vessel of given volume V with no lid on the top is to be made from a sheet
of metal. then the radius () and height (7) of the vessel so that the metal sheet used is
MINIMun. 1S
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Question Number : 71 Question Id : 1017174551 Display Question Number : Yes Single Line Question Option : No Option

For the function f(x)=(x—1) (x—2) defined on [O.

1 =, i, ,
b the value of “c’ satisfying Lagrange’s
mean value theorem. is
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Orientation : Vertical
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Question Number : 75 Question Id : 1017174555 Display Question Number : Yes Single Line Question Option : No Option
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Question Number : 77 Question Id : 1017174557 Display Question Number : Yes Single Line Question Option : No Option
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Question Number : 78 Question Id : 1017174558 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area (in sq.units) enclosed between the curves y=x> and y = |x| is

F

y=x 20w y= || S5 D6y HoeESecdyg BRfo JTogo (WS 0TI

Options:
2

;3

L2
f—

L
| = O

Question Number : 79 Question Id : 1017174559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding to the family of circles in the plane touching the
Y-axis at the origin. 1s
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The solution of the equation (:r — 4}1'3 d—1 —v=0.(y>0) 15
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Question Number : 81 Question Id : 1017174561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the determunation of the internal resistance of a cell with a potentiometer, the etror in
the measurement of the balancing length is + 1 mm. When the cell alone is connected in
the circuit, the balancing length 1s obtained at 60 cm and when the cell 1s shunted with a
resistance of 100 +2%. the balancing length 1s obtained at 50 cm. The error in the
determination of the internal resistance of the cell is
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Question Number : 82 Question Id : 1017174562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bird 1s tossing (flving to and pro) between two cars moving towards each other on a
straight road. One car has speed of 54 kmh~! while the other has the speed of 36 kmh!.
The bird starts moving from first car towards the other and is moving with the speed of
36 kmh! when the two cars were separated by 36 km. The total distance covered by the
bird before the cars meet each other 1s
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Question Number : 83 Question Id : 1017174563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is projected from the top of a tower with a velocity @ =3i + 4] +5kms™!. where

i J and k are unit vectors along east. north and vertically upwards respectively. If the
height of the tower is 30 m. horizontal range of the body on the ground is (g= 10 ms™)
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Equation of a projectile 1s given by y=Px — Qx” where P. Q are constants. The ratio of
maximum height to Range of the projectile 1s
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Question Number : 85 Question Id : 1017174565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A person of 60 Kg mass is in a lift which is coming down such that the man exerts a force
of 150 N on the floor of the lift. Then the acceleration of the lift is (g = 10 ms—2)
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The situations are shown in fig (a) & (b). meach case. m; =3kgand m, =4 kg. If a;. a, are
the respective accelerations of the blocks in these situations. then the values of a; and a,
are respectively [g=10ms= ]
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Question Number : 87 Question Id : 1017174567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A girl of mass 50 kg is swinging on a cradle. If she moves with a velocity of 2 ms—!
upwards in a direction making an angle 60° with the vertical. then the power generated 1s
(g=9.8 ms—2)
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Question Number : 88 Question Id : 1017174568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two blocks of masses "M’ and ‘m’ are placed on one another on a smooth horizontal surface
as shown in the figure. The force ‘F’ is acting on the mass ‘M horizontally during time
interval ‘t’. Assuming no relative sliding between the blocks. the work done by friction on
the blocks 1s
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A uniform thin rod of 120 cm length and 1600 g mass 1s bent as shown in the figure. The
moment of inertia of the bent rod about an axis passing through the point ‘O and
perpendicular to the plane of the paper is kg m?.
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Question Number : 90 Question Id : 1017174570 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A solid sphere 1s projected up along an inclined plane of inclination 30° with the horizontal
with a speed of 4 ms~!. If it rolls without slipping. the maximum distance traversed by it is
(g=10ms2)
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Time pertod of a simple pendulum of length *L" is T;. Time period of a uniform rod of same

length ‘L’ suspended from one end and oscillating in a vertical plane is T,. Amplitude of

T
oscillation 1s small in both cases. Then. T_ 15
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Question Number : 92 Question Id : 1017174572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies of masses 4 m and 9 m are seperated by a distance ‘r°. The gravitational potential
at a point on this line joining them where the gravitational field becomes zero is
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Question Number : 93 Question Id : 1017174573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratios of lengths. areas of cross section and Young's modulii of steel to that of brass
wires shown 1in the figure are a. b. ¢ respectively. The ratio of increase in the lengths of
brass to that of steel wires is [ Assuine that the masses of Steel and Brass wires are negligible]

HL0S* BrLd o &) Ey, Do ¥Es afe FéHeo, DF/E ITergL BodSw

chofi Hiesre Jdydhen SKBM a, b, ¢ oo vod R8s, ¥, slo FEHoS® DHDEL
ARG (8 SoBw 1dgd Sfen $Hgo3 BAY wdFod)
LELAE
StereI
w5,
Jkg
Brass
late
1kg
Options:
da
, 7bc
Tbe
, 4a
4be
; Ta
7a
, 4be

Question Number : 94 Question Id : 1017174574 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Fully filled open water tank has two holes on either sides of its walls. One 1s a square hole
of side x cm at a depth of 2 m from the top, and the other hole is equilateral triangle of side
4 cm at a depth of 6 m from the top. If the rate of flow of water is same from both the holes.
then X’ is
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Three uniform thin aluminum rods each of length 2 m form an equilateral triangle PQR as
shown in the figure. The mid point of the rod PQ 1s at the origin of the coordinate systen.
[f the temperature of the system of rods increases by 50 °C., the increase in y-coordinate of
the centre of mass of the system of the rods is M.

(Coefficient of volume expansion of aluminium = 12+/3 x 107 K1)
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Question Number : 96 Question Id : 1017174576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Awall 1s made of equally thick layers *P* and ‘Q’ of different materials. Thermal conductivity
of *Q’ is half of that of the “P’. In the steady state, if the temperature difference across the
wall is 24 °C, then the temperature difference across the layer P is
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Question Number : 97 Question Id : 1017174577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One mole of a gas expands such that its volume “V’ changes with absolute temperature “T"
in accordance with the relation V=KTZ where ‘K’ is a constant. If the temperature of the
gas changes by 60 °C. then work done by the gas (R 1s universal gas constant)
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Question Number : 98 Question Id : 1017174578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A monoatomic 1deal gas goes through a cyclic process as shown i the figure. The efficiency
of this process is
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Question Number : 99 Question Id : 1017174579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the average translational kinetic energy of a molecule in a gas 1s equal to the kinetic
energy of an electron accelerating from rest through 10 volt. then the temperature of the
gas molecule is (Boltzmann constant = 1.38 » 1023 JK-1)
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Question Number : 100 Question Id : 1017174580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The transverse displacement of a string of a linear density 0.01 kg 1. clamped at 1ts ends

3

r.

is givenby Yy,  =0.03 Si_tl[ _T ]cos (60xt) where x and y are in metres and time ‘t” is

in seconds, Tension in the string is
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Question Number : 101 Question Id : 1017174581 Display Question Number : Yes SingleLine Question Option : No Option

Orientation : Vertical

A closed organ pipe of length °L’ and an open organ pipe contain gases of densities py and
p, respectively. The compressibility of gases are equal in both the pipes. If the frequencies
of their first overtones are same. then the length of the open organ pipe 1s

L &8 o S o) st b 0din o 3O 8o TL0e Jod B

P1 S8R Py FoEsen Ko ToinPes &), Do FErees™ Tddnes o doadgd

BON G, T I0dd w838 PIPSgaen
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Question Number : 102 Question Id : 1017174582 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Two point sources S and S, are 24 cm apart. Where should a convex lens of focal length
9 cm be placed in between them so that the images of both sources are formed at the same

place ?

S1.S; Do 5708 2d57ew .50 ood w88 24 cm Srdod” Ganomw. 9 cm TrgrgodShn
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Question Number : 103 Question Id : 1017174583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two slits separated by 0.5 mm are illuminated by light of wavelength 500 nm. The screen is
at a distance of 120 cm from the slits. The phase difference between the interfering waves
at a point 3 mm on the screen from the central bright fringe 1s

0.5 mm gy dordorio Tok W08ods 500 nm $8ordggo Ho 52088 HaJo Drd.
DO8w H008 88 120 cm SrSoS’ ok, 3o Jewr B8 Hod 88 D& 3 mm Erdod’
e HodoPHes T8 Hgs¥dmo Tods dorre Hgy &7 Fdo
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Question Number : 104 Question Id : 1017174584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The uniform electric field intensity between the two plates of a parallel plate capacitor is
1 x 103 Vm~ acting vertically upwards as shown in the figure. The plates are sufficiently
long and have separation 2 cm. A particle of negative charge 1 uC and mass 2 gis projected
at an angle 45° with the electric field from the lower plate with a velocity ‘u’. The maximum
velocity acquired by the particle 1f 1t 1s not hit the upper plate is
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Question Number : 105 Question Id : 1017174585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An infinitely long thin straight wire has uniform linear charge density of — Cm~!. Then the
2

magnitude of the force acting on a charge 3uC situated at a point of 18 cm away from the
1
A e,

=9%10° Nm? C ™2

Wire is [
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Question Number : 106 Question Id : 1017174586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a steady state. a capacitor of capacity 2 pF 1s charged to 4 uC. as shown in figure. If the
internal resistance of the Cell is 0.5 €, then the emf of the Cell is
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Question Number : 107 Question 1d : 1017174587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An electrostatic paint sprayer has a metal sphere of diameter 18 cm and at a potential of
25 kV. If it sprays paint droplets. the charge on the metal sphere 1s
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Question Number : 108 Question Id : 1017174588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When the terminals of a cell are connected by a wire of resistance 4 €. the potential
difference across the cell is 1.6 V. If a wire of the same resistance 1s connected in parallel
with the first. the potential difference becomes 1.33 V. The emf and internal resistance of
the cell are respectively

4 Q 35°G0 No 888 Hobo ca_i‘méar Do DI EDHR0HE T ﬁﬁ%@&ﬁ 2%o 1.6 V.
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Question Number : 109 Question Id : 1017174589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

" , et T RR
If the charge on the capacitor is 1 mC in the given circuit. then ——= = 5
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Question Number : 110 Question Id : 1017174590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two concentric coils of 20 twrns each are placed in same plane. Their radii are 30 cm and
60 cm and carry 0.4 A and 0.6 A currents respectively in opposite directions. The magnetic
induction at the centre in tesla is
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Question Number : 111 Question 1d : 1017174591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two long parallel conducting wires carrying currents are seperated by a distance “x’. Work
done per unit length in changing the distance between the wires 1s proportional to

QB35S PSP §OAHS) Tod PEIS Srodd THE afe Doy Srddn X & s
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Question Number : 112 Question 1d : 1017174592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Match the following

List-1 List-1I
a)  HighRetentivity i)  Telephone diaphram
b)  High resistivity i1) Diamagnet
¢) Low coercivity i11) To decrease eddy current losses
d)  Negative susceptibility iv) Permanent magnet
BB TIY wEHEHBN
i -1 erde - 11
) @b Fdmiod ) BOPFS doirBIow
b) &8 A55ES i) doso SlevtIapiel:1e
C) ooy TS ii1) ‘D«% P ITod SHodEs
d) e S48 V) 58 eddr odo

The correct answer 1s

P0G Virgrdtsn
Options:
- a-1, b-ii. c-iit. d-1v

_ a-1v. b-111. c-1. d-11

- a-1. b-1v, c-111, d-11

- a-1v, b-11, ¢-1. d-111

Question Number : 113 Question Id : 1017174593 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Assertion (A):
Reason (R) :

Qdo (A):

D58 (R) :

It 1s more difficult to push a magnet into a coil with more number of turns.

The emf'mduced in a coil opposes the motion of a magnet when it 1s moved
towards the coil.
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Options:
Both A and R are true. R is correct explanation of A.

A.Reo $8gd0. R.ABwg) 908 d5d¢e0.
Both A and R are true. R 1s not correct explanation of A
A Rew deg50. R, A B, $885 D580 5760,

A 1s true. R 1s false

il

A B’bégé’ﬁa. R Ezf}éacjara
A is false. R is true
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Question Number : 114 Question 1d : 1017174594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a coil 1s connected to AC supply of frequency 50 Hz. a current of 4 A flows in it and
it consumes 240 W power. If the potential difference across the coil is 100 V. then the
inductance value of the coil 1s

a8 8 DHL% 50 Hz FS:hdgain do AC S85078 Sandb S8, 81 Dy how 4A
Aogd BIToAGE oo 240 W FHgso IABrhoBdd. o Sl wohe Sodg
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Question Number : 115 Question Id : 1017174595 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



The amplitude of electric field in an electromagnetic wave is 60 Vi, Then the amplitude
of magnetic field is

w8 DgER, 08 Soro S0tk JEgE B KO Do 60 VI wowd wdidy o8 3¢
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Question Number : 116 Question Id : 1017174596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Both an electron and a photon have same de-Broglie wavelength of 1.2 A. The ratio of

their energies is nearly

o
Options
o e
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, 1:100
, 1:1000

Question Number : 117 Question Id : 1017174597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of orbit of an electron and the speed of electron in the ground state of hydrogen
atom are 5.5 ¥ 1011 m and 4 * 106 ms-1 respectively. Then the orbital period of this

electron 1n the first excited state will be
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Question Number : 118 Question 1d : 1017174598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The half life of a stream of radioactive particles moving along a straight path with a constant
Kinetic energy of 4 €V 1s 1 minute. The percentage of particles which decay before travelling
a distance of 3.6 km is

(Mass of the radioactive particles = 3.2 » 1021 kg and charge of the electron=1.6 * 1012 C)

4 eVeo 36 K8 1S o8 6By 7808 BHrBRY) BRI Saro o ©f
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Question Number : 119 Question Id : 1017174599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A zener diode voltage regulator operated in the range 120 - 180 V produces a constant
supply of 110 V and 250 mA to the load. If the maximum current is equally shared between
the load and the zener diode. then the values of load resistance (Ry ) and series resistance
(Rg) are respectively

200 d&rG ¢

L8 Qoho@s o 120-180 V orgae® oad89, 110V bcin 250 mA R
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Options:
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, RU=280Q.Rg=70Q

Question Number : 120 Question Id : 1017174600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process of recovering the modulating signal from the modulated carrier wave is called

SorcdogBun Bohudd Tirg ddorio Sod SordogBlioh Jo88dd PHIEoOT HIBoD
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Question Number : 121 Question Id : 1017174601 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The energy and radius of electron present in second orbit of He™ respectively are

He™ Bods 88g65° &) dogs 48, o gardo SOdm
4, P A 8™ &
Options:

| —2.18x107'%J, 105.8 pm
—4.36x107%J.52.9 pm
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Question Number : 122 Question Id : 1017174602 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The work functions of Ag. Mg, K and Na respectively ineVare 4.3.3.7. 2.25, 2.30. When
an electromagnetic radiation of wavelength of 300 nm is allowed to fall on these metal
surfaces, the number of metals from which the electrons are ejected is :

(1eV=1.6022x1017])

Ag Mg K, Nao 50 Haooiren eV o Scdm 4.3, 3.7, 2.25, 2.30. gdoripdgo 300nm
e Hsgtiolonm 08 HEGe ) ard Sirdere? @ doNNHd J) S ot a@@f}m
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Question Number : 123 Question Id : 1017174603 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Na™ and Mg’ ions are isoelectronic but the ionic radius of Na™is greater

than that of Mg”*
Reason(R):  The effective nuclear charge of Na™ion is less than that of Mg?* ion
DNgo (A): Na*, MgZ" e DDIOFTIE wairoe. 570, Na© easras TyTgo, Mg2*
T§go §0B I8 D
&
s*d=0 (R): Na® woirS @rerds o8 esaddo Mg?™ wodrd o8 $53,3
Options:

Both (A) and (R) are correct and (R) 1s correct explanation of (A)
(A) 50030 (R) o0 366050, 5008030 (R) 9586 (A) $ 30508 J506.

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) S08asn (R) en 5863082, (R), 25856 (A) & 50608 D560 s7th.

L2

(A) 1s correct but (R) 1s not correct

(A) 3663056 58 (R) SOGHS5E 5.

(A) 1s not correct but (R) 1s correct

(A) 365056 56 570 (R) H0T0S6.



Question Number : 124 Question Id : 1017174604 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The Lewis structure for O; molecule is given below.
The correct formal charges on oxygen atoms labelled 1. 2. 3 are respectively

O; =) erodr Qom0 §od adtiod.
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Options:
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Question Number : 125 Question Id : 1017174605 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following are having. diamagnetic property?
§ob T8 K0S wobI 08 $UmA) EOASD DD?

(@ B, ®) N, (© O, @ G

da

Options:

, ab
1 b.C
; a.d
4 b.d

Question Number : 126 Question Id : 1017174606 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



At 27°C m a 10 L flask 4.0 g of an ideal gaseous mixture containing He (molar mass
4.0 gmol™) and Ne (molar mass 20g mol™) has a pressure of 1.23 atm. What is the mass%
of neon? (R=0.082 L atm K mol™)

27°C 3¢ 10 L ardge® &) 4.0 g edd) aradn do@dod” He (3rerd ($550°3
4.0 g mol™), Ne (Brers 55078 20 g mol™h) &&Hyc o HesSo 1.23 atm wond
DO3>PS (8555078 TS0 Jo=? (R=0.082 L atm K~ mol™)
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Question Number : 127 Question 1d : 1017174607 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two oxides of a non-metal X contain 50% and 40% of non-metal respectively. If the formula
of the first oxide is XO,. then the formula of second oxide is

Bodh et @E}E@ﬂ“ weStro ‘X S%dme 50%. 40% f@éﬁl&. S0C5ES %E}E @*tﬁjéw XD2
©o0d, 008S LB Foer dnis?
Options:
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Question Number : 128 Question I1d : 1017174608 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The enthalpy of formation (AfH) of methanol. formaldehyde and water are —239,—116 and
—286 kI mol™ respectively. The enthalpy change for the oxidation of methanol to
formaldehyde and water in kJ 1s

DESS, rof G, Ade D03 Jomdyen (AfH) SHdme —239, —116 $H0050 286 kI
mol™ wonds® WETE w§Ecwo Tod FTrE, VG AGE SEgH 0TOY S
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Question Number : 129 Question Id : 1017174609 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i)  H3PO4(aq) = H (4 tH,PO% g
1) H;PO4qq #HJr(aq)JerOi_(a@

111) HP04 (aqQ) ~— H (an+PO4 (aq)

The equilibrium constants for the above reactions at a certain temperature are K, . K, and K

respectively. The equilibrium constant for the reaction H3POy,q = 3H™ (aq)™ PO; (aq)
mn terms of K,. K, and K 18

i)  H3PO4(ze) = H(,.y+H,POj (..
ii) H,POp,) = H+(HEJ+HPO,§—{HEJ

5.8 023 @S 5§ D Sdge JDerhd dorosTed SEIT K. K. Ky 00055

H3POy..) = 3T Gy T PO4 (s0) BO§ D0 DS ?-D"{jéo K,.K,. K;& dom Jos?
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Options:
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Question Number : 130 Question Id : 1017174610 Display Question Number : Yes SingleLine Question Option : No Option
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The equilibrium constant (Ke) for the following equilibrium
2805y T Oy = 2503y,

at 563 K is 100. At equilibrium. the number of moles of SO; in the 10 litre flask is twice
the number of moles of SO,. then the number of moles of oxvgen 1s

563 K 3¢ & Bod Sogk K};i:e?%e? ?@30"050 (Ke) 2ens 100,
ESOZ{F)+ 02{:?) == 2803(31}
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Options:
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Question Number : 131 Question Id : 1017174611 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

How many millilitres of 20 volume H,O, solution 1s needed to react completely with

500 mL of acidified IN KMnO,, solution?

500 sndderg wgys IN KMnO, @d0nos® Hrom $dy adHs ) »mddid

20 D85885 Hy0, (@500 953565060807

Options:

1.

Q
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56
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uestion Number : 132 Question Id : 1017174612 Display Question Number : Yes Single Line Question Option : No Option
rientation : Vertical

Which one of the following statements is not correct?

Boh 70" DB DO BG §5E?

{ R

Options:



Alkali metals react with water liberating oxygen gas

0T en ABS® S0y 20D wfhnd ToinPH Jde Voswd

The hydration enthalpies of alkali metal 1ons decrease down the group

OS5 S0irde @A Jogdyes ((raes® §ohs Fond £H Srherow
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KO, is paramagnetic
KO, &ros woham o8 $omd) Sr0i0

Lithium halides are some what Covalent in nature.
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Question Number : 133 Question Id : 1017174613 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following reactions. hydrogen 1s liberated ?

(a) Jfﬂ;ll,ks}JrHCl{a >
(b) P;lis}JrNaOHm}—}

(c) NaBH,+I,——

Bob F$EgoeS* BAONOMD TPIFB DG 8ihHdn?

(a) Alg,,+HCl,.,,—
(b) Al{ ,+NaOH, .., —

(c) NaBH,+I,——

Options:
1 a.c

, a.b
3 b.c

4 a.b.c
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Which one of the following statements 1s not correct?

& 806 TIS® IO JHOFS D56 TE?
Options:
In CO molecule, there are one ‘sigma’ (o) and two “Pi” () bonds.

CO we0He5* a8 :EJH"%I? (o), Dot B () worren So3)
2 g B
Both [SiFg| " and [SiCls]™ ions are known

SiF|” 8050 [SICL 7™ w8 Bodks wasrdy s
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In CO, molecule. carbon hybridisation 1s sp

CO, we0es® s=tha HoE0ET0 Sp

Fullerenes are made by heating graphite in an electric arc i the presence of argon
gas.

esord amodn JHgod® rpdih ddigunHos® JATHS Pt SoirdHeron

Question Number : 135 Question Id : 1017174615 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following forms holes in the Ozone layer?

§oh TAS® LED DIS* oo IGTHEE 67

Options:

1. 50,
CO,

3. CO

(R

L-2

4

Question Number : 136 Question Id : 1017174616 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



Identify the correct statements from the following
a)  Electromeric effect is a permanent effect
b) Hyper conjugation is a temporary effect

¢)  Fractional distillation 1s used to separate two liquids from a mixture if the difference
in their boiling points 1s less
d)  Different compounds are adsorbed on an adsorbent to different extents

Bod e3e5 DB D30y Hiodok

a) Q@ﬁmﬂ§ erdo TSI

b) =8 Hocsnny Perdo e e dEHI6

C) rEE w038 USS0S H@DTA0D, ertyaSs LT B3 S8 S Q) Body Bareid
5 oo Sod) DHAFED

d) Fog ddFaren @fFHd D IVE 9300t whFi0 Boheron

The correct answer 1s

D8N DIET NS0

Options:

p ¢.d

e

; b.d
, b.c.d

Question Number : 137 Question Id : 1017174617 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The gaseous products formed at cathode (X) and anode (Y). when an aqueous solution of
sodium acetate 1s electrolysed are

FHOO BHBE RO D) ;‘Jciwgaugmeao mIoddHE vgde (X) HnBa» uIh
(Y) o S5¢ Qéﬂ)@ 7050 € TT)en
Options:

X

C,Hy . H, co,

<

1.



i e C,Hg - H,
X b §

. H, C,H, . CO,
X ¥

. H, , CO, CH.

Question Number : 138 Question Id : 1017174618 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statements for a ring system to exhibit aromaticity
a)  Itmustnot be planar

b) It must possess (4n + 2) w electrons

c) Itmustbe planar

d) Itmust possess 4n « electrons

2.8 J0odh J§58 wIrEHE PEGOTEras sIobY HOGHY Jddwois Hiodod
a) @b Hdgeom wodordd

b) =& (4n+2) nﬁavgﬁmﬁ} §0 €&odSB%

c) wd dddoomr word

d) =& 411?15]9:-@5@53 58 odST8

The correct answer 1s

SOGHS DITTHE

Options:

1 a.b
2 b.C
3 a.d
4 b.d

Question Number : 139 Question Id : 1017174619 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



An element has a body centered cubic structure with a unit cell edge length of 400 pm.
Atomic mass of an element is 24 g mol™. What is the density of the element?

(N,=6x10*mol™?)

20480H¥ S JTPESNS® &) w8 Sresdn ohrddl d wod &dsy 400 pm
Sore§d HESTn (§550°8 24 g mol! wond @ FroEd Jos? (N,=6x102 mol™?)

Options:
, 3.60 gem™

, 1.80 gem™

, 1.25gcm™

, 2.50gem™

Question Number : 140 Question 1d : 1017174620 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

31 g of ethylene glycol (C,HO,) is dissolved in 600 g of water. The freezing point
depression of the solution is (K for water is 1.86 K kg mol™)

31 g © 1§83 055 (C,HO,) & 600 g dt3e5* sdhoSm 3}6;}@‘6 I°5200 HOALIDD ﬁ;é
D50 Jos? (D Ky dens 1.86 K kg mol™)

Options:

| 3.10K
, 465K
; 0.77K

, LSSK

Question Number : 141 Question Id : 1017174621 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following solutions of compounds show highest osmotic pressure?
(AB. AB, and A, B; are ionic compounds)

& 1808 Do 2o (e whs (Bordddn ESSH B8 &HE?

(AB, AB; 538050 AB3 e 20irds S @aren)

Options:



3.0 M AB type 1= 1.6 and temperature 1s 27°C
3.0MAB 6830 1= 1.6 508050 erapiis 27°C

2.5MAB, type 1 =2.5 and temperature is 57°C
2.5 MAB, 6850 1 =2.5 58050 s 57°C

L2

1.5 MA,B; type 1 =4.1 and temperature is 27°C
1.SMA,B; 6859 1 =4.1 3508050 &l 27°C

5.0 Murea 1 = 1.0 and temperature is 67°C
, 3.0 M oSordosr 1 =1.0 508050 €aEyies 67°C

Question Number : 142 Question Id : 1017174622 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

20% of a first order reaction was found to be completed at 10 A.M. At 11.30 A.M. on the
same day. 20% of the reaction was found to be remaming. The halflife pertod i minutes of
the reaction is

a8 PP ESros Idg edaDo 10 foboHd 20% Hr8 wondtn AoIaAIs. ©d
6% oD 11 Kobow 30 Ao HS005rdE 20% Sregd S65 DAD &)
AQ0TRGIR. & Tdg %D;odh@ faarees® Jos?

Options:

. 90
) 60
3 45
4. 30

Question Number : 143 Question 1d : 1017174623 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Same amount of electricity s passed through aqueous solutions of AgNO; and CuSO,,. The
number of Ag and Cu atoms deposited are x and y respectively. The correct relationship
between x and y1s

AgNO, 58050 CuSO, e [@TSwre HoF" 28 H0ST0S" HegEd HSer0d Do
D8HF0S Ag. Cu Hidrennde Hopg SEHDM x. ¥ wond x. y © gy 595 dowodo
Options:

. X=Y



L
e e
I I
[ T B
3

e

, X<y

Question Number : 144 Question Id : 1017174624 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Colloidal solution of gold is in different colours like red. purple. blue and golden
because of

A*8) SeronG (@900 I, 07, A0, BOTE JorHerodd HDE Gorhees® €0otnod.
608 s=¢0

Options:
Size difference in the particles of gold

A8 Segme) HBS5°e00e° BE 055D

Variable oxidation states of gold

g% 056 ef)gdes HHen Eocierdn
Presence of impurities

00T ey erodidann

Difference in the concentration of gold particles
G Swre mEsSs® 8@ eodiosn

Question Number : 145 Question Id : 1017174625 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Copper matte contains

590 3850 &0dd
Options:

| Cu0. (‘11,35

- CuO, FeS
; CuES. FeS
) C‘uESq FeO

L-2

Question Number : 146 Question Id : 1017174626 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



S+ Conc. HESO4 —3 XY

Here X is a gas and Y 1s a liquid and both are triatomic molecules. The number of electron
lone pairs present on the central atoms of X and Y are respectively.

S+m¢ H,S0, — X+Y
28, ¢ X arodnd, Y (@580, 2008 Sodr @Hd:h5ra waoden. X. Y o So|is HE5rede
Q06 ) 2,000 JOFS B Doy SEHM

Options:

1 2,1
w342
3 1.2
5 10

Question Number : 147 Question 1d : 1017174627 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is used in the estimation of carbon monoxide?

Bod 78S BAD 7GRS AraHEH JAJoodFTVE HDTATE?
Options:

CLO:

BrO 3

LO,

l

L2

3
4 I’ZO‘;

Question Number : 148 Question Id : 1017174628 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

To prepare XeF .. Xeand F, are mixed at 573 K and 60-70 bar in the ratio of

XeF &9 €a5r08, Xe, F, aroindeds 573 K. 60-70 erde 5¢ o) DNBS® SenHe?
Options:

i. 1 220
ks 1
3. LS
3, diid

L3



Question Number : 149 Question Id : 1017174629 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What are X and Y in the following reactions ?

8o SEgoes® X, Yen 287

a)  MnO,+I XX

b) MnO,+I —225Y
Options:

1051

W ¢ 7

L-2

, 103 ,10;
I; o 10;

e
Question Number : 150 Question Id : 1017174630 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Identify. from the following. the diamagnetic, tetrahedral complex

8o& ¢3S dosr wohar) 0d, SErdS Ho3ard) HBodod

Options:
) | Ni(CN), |
Ni(el), ]
| Ni(CO
[3ic0)]
ey 3
Co(C,0
- { 2 4}3:|

Question Number : 151 Question Id : 1017174631 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following 1s not used as an initiator in ionic polymerisation?

8ob 7°¢3e5® BN woirdE FHH08600e5 (@dodiEom SARTA0TN?

Options:



AICI,
Snli"L2
N NaNH,

, (CgH5CO), Oy

Question Number : 152 Question Id : 1017174632 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the statements which are not correct from the following

a)  Carbohydrates are stored as glycogen in animals
O

b) In glycylalanine. — llil“ — of peptide bond belongs to alanine
¢) Base - Sugar - phosphate unit 1s known as nucleoside

d)  Obesityis due to hypothyroidism

Bo& °e3e5” HBDND 50 ISGeaedy Hiotok

a) O r@loe 20HIS" T8RS (rHos" dog trotrron
O
. Il
b) T8 Joldes® 6 wodo @nE), — C— J0338 JobIb
.+ a_ E o

o

€) §00-U8, G- ohrdeid Sorgfdrps wolrdd
d) Trogorondas Sof dwsesoio Soibhd

The correct answer 1s

DO DIrHrdS0
Options:
, a.c.d

o il



3 b.c
2 b,c.d

Question Number : 153 Question Id : 1017174633 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following structure represents the compound. generally added to soaps to
umpart antiseptic properties?

030 JE°EE Gomod §DA0WLrIE vanwi Trdwon §8 dFdo Bod il o)
Q0720 SO/ 0tnod?

Options:
S50,NH,

—_
1

L2

L
o

Question Number : 154 Question 1d : 1017174634 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The drug. which was designed to prevent the interaction of histamine with the receptors
present in the stomach wall 1s :

23840 R’ fo rirsos TrRdd adw S0 H°GoSEas draged Dhd So

Options:

Equanil

o AT
L ':;'E_Dchf..]u



Prontosil
, (@RS
Aspartame

s EF0 0

Cimetidine
4 VL3R
Question Number : 155 Question Id : 1017174635 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is more reactive towards Sy reaction?

808 T¢365° B Sy $0gHey) wHE Sorglodd HE806?

Options:

(CH,),CX
(CH,),CHX

l

, CH,CH,X

4. CH3 X

Question Number : 156 Question Id : 1017174636 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



What is Z in the following sequence of reactions ?

a P

C
2N y = R T
&, @ é X
Anhy-AICL, (Major)
l
' Zn-Hg!/
X Conc HCI ~
Z

Bod ESrdodges® Z 267?

Options:

1 —CH,
5 —CH,—CH,
— Y
|
3 O

-G~ CH,
4 O

Question Number : 157 Question Id : 1017174637 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



Identify the statement which is not correct?

ol aréde5® BB D00 §' TAA DPododk

Options:
Freon 12 1s manufactured by Swarts reaction

| oSS 125 %) S6g mgor ed\g oM

CHCl, 1s stored in closed. dark coloured bottles
CHC; & Soth baree® Hod deg esoedd
Chronic exposure to CHCI, causes liver damage

; CHCL, & 6¢sooarin 190 wonddd)d 50050 TEHsHod

Dehydrobromination of 2-bromopentane gives pent-1-ene as the major product

24" 20855 @ @T0IE000 IR D0G-1-85 TS e SH0m Y000

Question Number : 158 Question 1d : 1017174638 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mcreasing order of acidity of the following carboxylic acids 1s

Bod 5°on§)PF elre, wHEto HIA [ES00

@ 50}1 éﬂm éﬂl{
NO,
(a) (b) (c) (d)

Options:

l_a{;b{{lfic
EEGgE<gsh

s Zd Kb <d

. Le=<d<a

L2
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What are X and Y in the following reactions?
Bod I6ges* X, Y en 2?

i X

CH,0 e »CH;(CH, ), CH,OH
y D GHMB | o CH,C(CH;), OH
(1) HO° w -
Options:
X b 4
CH; — CH — MgBr C,H.COCH,
: CH,
X X
CH; —CH, —MgBr CH,CH,CHO
X x
. CH;CH,CH,MgBr CH; —CO-CHj;
X X
) (CH; )3{:“ MgBr CH,-CO~-CH,

Question Number : 160 Question Id : 1017174640 Display Question Number : Yes SingleLine Question Option : No Option
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What are X and Y 1n the followimg reactions?
§ob Sdgos® XY eo 22?

NH,
BTE 'H 2 O i 4
.
NHCOCH;
Brj {C H3 COOH s Y
Options:
X i
NH, NHCOCH;
| Br Br
X X
NH, NHCOCH;
Br Br Br Br
- Br Br
X i
NH, NHCOCH,
Br Br
Br



|4

NH;
Br Br

Br
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